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[ 17 235 4 117 26 0.23
5] - 33 049 | 31 0.16
b= - 27 070 | 32 0.14
o 14 369 | 15 085| 13 0.38
X 20 175 14 088 | 19 0.29
= - 8 1.05 6 052
2 23 113 24 0.71 10 0.42
=1 0.45
-3 H£10H1H 100 1TH HE10H1H
& R AR U AR IR AR
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|

% - - WREEIANEY A
=4 N G 5 34.39 3508 [ 13 452,928
BE # - - -
1B % 1 - - -
1B £ & W1 # - - -
BE ¥ B 27 5.62 - -
= Il |l 15 18.82 15 51.70 8 467,031
= = Ml 12 2487 11 5307 | 26 384,352
| = L 4 3454 | 33 37.97 10 459,226
+ & Wl 16 1682 26 46.36 | 20 419,162
A [} Ml 11 2642 | 24 47.31 25 389,183
B £ Wl o6 3263 | 17 50.65 | 33 317,159
+ & & Kk m| 19 14.24 6 56.85 | 28 370,373
B oo+ | 10 2823 | 27 4465| 30 362,853
B & - - _
1B & & # - - -
& 3] Ml 21 11.91 30 4284 19 425787
1B @ M - - -
IB& & X8 - - -
IB% T M - - -
B®R ‘B H - - -
BE I # - - -
& ES Ml 13 2386 | 23 47.37 9 463,760
18 £ 4% 1L FA BT - - -
BEE 4 @& - - -
B & # - - -
®” 3 AT, - 1 6256 | 24 390,858
= ¥ @ #H 24 968 | 21 49.76 7 471,227
A % HT 8 32.00 16 51.51 14 447514
= 2] BT 29 348 3 5842 | 17 433,491
i )il # - 9 55.00 5 485,973
5 B ) -1 29 43.37 2 586,282
= [ii] # 1 53.46 4 5698 | 18 428,592
& il Br[ 9 30.91 22 47.88 4 486,756
X =2 B[ 17 16.24 8 56.54 1 593,082
+ & BT 3 35.46 25 46.57 16 434,805
X )il w22 11.88 12 53.06 3 521,027
R ) BT 14 1949 [ 32 3936 | 11 457,459
BA I # - - -
1B % H - - -
BE & # - - -
= &= I B 20 12.09 7 56.55 6 477,485
|t i Er - - -
BE NI # - - -
B & # - - -
+ & H| 26 587 19 5020 | 23 393,816
1B &+ {& BT - - -
B X % R # - - -
3 )il BT 7 3254 | 28 43.96 12 455,536
24 0 Brl 2 3589 | 18 5024 | 21 404,208
= R BT| 25 705| 14 52.00 -
B =) 4 -1 31 41,08 15 442,147
b= L4 Ly -1 20 4996 | 22 401,592
1B X # % # - - -
BE W # - - -
m 5 + Bl 18 1504 [ 10 5324 | 31 359,883
BE Nl M - - -
IBX IE H - - -
B+ # # - - -
x A Br| 28 3.65 2 5928 | 32 335,323
= R [ 30 3.15 5 56.90 | 29 369,284
R i BT| 23 969 | 13 5213 | 27 371,032
B & - - -
IBX # M - - -
=1 # 26.45 42.21 426,652
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|

%
= N H
B&E % - - -
I8 & 1 - - -
B £ # W # - - -
BE % A 34 254.45 5 23022 | 30 169.64
= P il 8 420.07 19 173.63 9 257.65
= = Ml 17 34848 | 21 159.72 | 20 203.28
| = ml 25 29912 | 23 15055 | 27 188.19
+ & M| 15 36588 | 16 187.98 | 31 161.12
A [} ml 24 305.74 | 26 14319 | 16 220.60
B £ M| 30 27652 | 30 13407 | 26 188.54
+ & & K | 23 307.18 10 204.79 28 187.72
B+ m| 35 25428 | 24 147.21 21 200.74
B s # - - -
B # L £ # - - -
& 3] Ml 32 266.49 15 19328 [ 15 22549
B 7 [E AT - - -
B & ¥ % H - - -
B % ™ - - -
B®& & H - - -
BE N - - -
& ES | 27 29394 | 17 184.56 13 239.25
I8 = 4% 1L E A - - -
A& 4t Hr - - -
B & - - -
®” 3 B[ 10 414.32 18 17757 5 32554
= ¥ @ f 5 494.92 2 33863 | 14 234.44
A % BT 11 404.61 34 93.37 4 342.36
= A Br[ 2 569.03 | 32 11980 | 12 239.59
it )il # 3 524.59 4 262.30 34 65.57
] B M 16 359.71 35 8993 29 179.86
= [ii] #[ 20 341.55 3 292.75 7 317.15
& iT] Br[ 22 31523 | 14 19399 | 24 193.99
X =2 iy 6 426.16 1 518.81 3 352.05
* & Br[ 33 255.86 9 21322 | 17 213.22
X )il # 1 597.61 199.20 -
R ) BT 29 283.93 7 21564 | 22 197.67
BA Nl # - - -
B % A - - -
BE 4 # - - -
= = W H 9 416.95 8 215.20 6 322.80
g )l Er - - -
BE N - - -
B1- E - - -
+* & H 7 425.23 27 14174 | 25 188.99
I8 & * {£ #r - - -
B X % R # - - -
3 )il B[ 19 341.88 20 170.94 8 300.85
24 0 Br 4 499.22 | 11 19969 | 10 256.74
= R B[ 13 387.41 6 21792 | 33 145.28
B =) 18 347.80 33 115.93 1 364.36
b= i3 B[ 28 284.86 12 199.40 2 356.07
I8 X # % - - -
B3E W # - - -
m B + B[ 26 29419 | 25 14468 | 11 245.96
IBE Il Hr - - -
IBX IE A - - -
B+ 1  # - - -
x A B[ 12 39334 | 29 136.16 | 19 211.80
= R M 14 37254 | 22 159.66 18 212.88
R # Bl 21 34152 | 28 13806 | 23 196.19
BiE & H - - -
BX % - -
=1 # [ 194.07
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= N G
B&E % - - -
18 &% 1 - - -
B £ # W # - - -
BZE % HEf| 22 642 | 10 36.19 | 13 0.67
= P Ml 17 8.03 17 30.87 11 0.70
= = W5 1327 24 24.64 9 0.71
| = L 3 14.73 14 3436 | 19 0.55
+ & o9 1082 | 11 36.09 | 16 0.60
A [} ml 16 8.17 5 4372 | 24 0.42
= £ Wl 6 1165 15 3132 | 29 0.21
+ & & Kk | 24 5.45 8 39.80 5 0.89
B o+ w7 10.94 9 3952 | 25 0.32
B s # - - -
B t+ & # - - -
& 3] Ml 13 9.51 2 5200 [ 12 0.67
B & @ M7 - - -
B & ¥ % H - - -
B % T M - - -
B®& & H - - -
BE N - - -
& ES Ml 15 855 | 23 2598 | 18 057
I8 £ 4% 1L B ET - - -
A& 4t Hr - - -
B & - - -
®” 3 B[ 10 1059 | 25 2432 7 0.86
= ¥ @ # 2 1555 | 27 1967 21 0.51
2] 54 BT 27 423 | 32 7.14 0.91
= A Brl 11 986 | 29 14.71 -
it )il M 35 1.28 3 50.00 -
5 B # 31 2.66 - 6 0.89
= [ii] # 4 1449 | 28 14.75 8 0.71
ES T BT 20 684 | 13 3448 | 28 0.24
X =2 B[ 26 4.59 12 34.62 1 1.06
* & BT 23 6.29 1 66.67 | 23 0.42
X )il [ 28 3.96 - -
R ) BTl 12 962 | 20 2904 | 22 0.46
BA Nl # - - -
B F B H - - -
BE 4 # - - -
= &= I B 30 2.86 26 2273 14 0.65
g )l Er - - -
BE N - - -
Bz & # - - -
+ & E| 29 322| 30 1429 [ 17 0.58
I8 & * {£ #r - - -
B X & R # - - -
3 )il BT 8 10.89 6 42.24 2 1.01
24 0 BT| 25 493 | 21 2857 | 26 0.28
[ R B[ 32 258 | 31 909 | 10 0.70
B =) M o14 9.40 16 31.03 30 0.16
b= 2 Br[ 33 1.81 18 3077 | 27 0.28
I8 X # % - - -
B3E W # - - -
m B + Bl 19 6.91 7 40.41 3 0.99
IBE Il Hr - - -
IBX IE A - - -
B+ 1  # - - -
X A BT 18 7.01 4 4583 | 31 0.15
= R # 34 1.57 - -
2 # BTl 21 679 | 19 30.21 15 0.64
BiE & H - - -
BX % - - -
=1 # [ 30.76 0.54
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B LW ﬁ -
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« 4 80%RIE

= & B
No. b} B £ B Bl [E] El- 3
ax] $5EE [aw|ex] $S1EE
A A0 - {H3#
1| @A BA| 18 79 45| 19 78 45
2 BFAD BN 18 37 45| 19 37 45
3 %FAD BA| 18 42 45| 19 42 45
4 SAEAAD (AO10BAHEZY) A | 12 298.4 39| 17 367.6 41
5| ADZA (HEEHRAD) % | 18 0.62 45| 19 0.61 45
6| AOWE (REFEIKMHEY) A |18 1111 43/ 19 110.0 43
7| AOEE (AIEHE#EKeL-Y) A |18 675.6 32| 19  668.9 32
8| BEMAOLE 1) % | 12 99.7 27| 17 99.9 28
9| ADEh#RAOLE (fEAD) % | 12 42.1 21| 17 42.8 27
10 FLAORE [15&EKH] GHeAD) % | 18 12.7 44| 19 12.5 44
1| 2EADEE [65EHUE] GRHEAD) % | 18 26.6 3| 19 21.2 3
12| &ESEHAOZE [15~64%] (RAEAD) % | 18 60.8 43| 19 60.3 45
13] FELADHES (FELADEEFEADX100) - |18 20.9 37| 19 20.7 39
14| EZEADER (EEAD/EEFBHADX100) - |18 43.7 3|19 45.2 3
15| HEAOES ( (EL+EEAD) AHEEHAOX100) | — |18 64.6 5 19 65.9 3
16| ADEME ( (BAD-FIERAD) SHIERAD) % | 18  -0.86 45/ 19  -1.00 45
17| BAEME ( HER-FCH) ~BAD) % | 17 -0.40 46| 18  -0.37 46
18| $AHER (AOFALY) - |17 7.43 43| 18 7.62 44
19| AEHHER - |18 1.33 34| 19 1.31 34
20| #A%ETE (AOFALEY) — |17 11.45 218 11.31 3
21| FHRARRECE [B] (AOFALEY) - |12 6.56 13| 17 6.35 5
22| FHEBRCE [&] (AOFALEY) - |12 3.22 22| 17 2.98 22
23| EBAFEE [0~4:%] (AOFALFY) - |17 0.67 37| 18 0.79 10
24| FEAFEE [65FLUE] (AOFALRY) — |17 37125 7|18 3654 9
25| #HEEmME ( GEAZEH—EmHER SHAD) % | 18 -0.44 44| 19  -0.58 44
26| BEAE (BEAZHBAD) % | 18 1.35 40| 19 1.32 40
27| ERHE (BRHEHBAD) % | 18 1.79 30| 19 1.90 25
28| FRAANOLLE (RHAAD) % | 12 0.3 43| 17 0.29 43
29| FHEAOLE (HBAD) % | 12 0.42 41| 17 0.43 43
30| —AmttEs At 12 32 4| 17 32 41
31| 2E—fRitEIC b5 —RHEEEY % | 12 0.68 41| 17 0.66 41
32| —BitEOFYAE A |12 2.47 44] 17 2.38 44
33| HEEHEORE G —ARHEY) % | 12 57.67 23| 17  56.81 29
34| BmitEODE (f—mttE) % |12 29.85 6/ 17  31.76 5
35| GSRULOBEOVRZEHSENE (H—ARHHR) % | 12 40.21 15| 17 42.16 16
36| BEMKBOHOEBEE Cf—ARHEEH) % |12 10.98 5/ 17  11.56 7
37| BERESHEOIE (I—Bitni) % |12 1116 2| 17 12.66 2
38| HEETHBBE C—RHEH) % | 12 29.54 29| 17 27.05 35
39| #ERE (AOFALELY) - |17 4.65 43| 18 4.58 44
40| HEEE (AOFALEY) - |17 2.24 7|18 2.18 17
B BRIRIER

4| BEE ARERUTEEET] 100Kni| 18 71.05 18/ 19 71.05 18
42| mEFE [AAMERUMTEZR<] IeERER) % | 18 1.91 18] 19 1.91 18
43| ZBHREFEEE [EAMERUMEER] HAER) % | 02 83.4 1] 12 83.3 1
44| BRLAEEEIE [AAMERUMTEER<] GHAETRE) | % | 18 6.7 42| 19 6.7 42
45| AEHERIES HARERUMEER] (RRER) % | 18 16.4 47| 19 16.4 47
46| FEHRE % | c |18 17.7 4| 19 17.9 7
4| BESE (BRESENATHORSE) % | c |18 32.8 22| 19 32.6 27
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= & B
No. B B % BfL Bil [ ElE K
wx] EEME [aw|ex] EEE aw] (4
48| REXE (BRESEDAFEHORIEE) P °c 18 2.9 42| 19 3.3 32
49| EFHEEE x % | 18 70 20| 19 68 20
50| HEErRE (/) P BERE | 18 2,034 119 2,211 5
51| REKE (FRD) % | om |18 3,213 1/ 19 1,859 6
52| REEEH (FM) P =] 18 25 20| 19 28 21
53| KE/KBH (£ P =] 18 121 16| 19 103 21
54 ER%K (FRM) % | B |18 13 36| 19 433
C REFEN

65| —AH-UBRRME FH | 16 2,171 45 17 2,146 46
56| RPNt LA AT IS IR % | 16 -1.7 47| 17 0.5 32
57| BREREFBIEE]XFIFEEME % 16 -1.5 47) 17 -0.1 45
58| EEASFIEELME % | 16 -3.5 47| 17 1.0 44
59| BRER#LFF[4B]IxaIFEEMmE % 16 -1.3 46| 17 0.2 36
60| SE2RFEXBEMBIBRLLL HIBERE) % 13 15.63 43| 18 15.51 39
61| BOREXEEFHBRL IELHY) % | 13 83.88 5 18  52.50 8
62 REZBI~AANOBERIE REFERH % 16 66.82 3| 18 67.02 3
63| REZFIOALLOEEREE HEEEEHRH % | 16 0.58 44| 18 0.59 46
64| SE2RFERMEFEFH (1BHEAMERLY) A 13 10.01 42| 18 9.11 47
65| EEIMEXMFFH (1BHAERLY) A 13 7.01 40| 18 5.98 46
66| WEEI~INOBEFOREEEE (HEEBETHEER % | 16 19.29 2|18  18.97 2
67| HEBIOALLOBEFROREESE NREEEREEER % 16 14.74 46| 18 16.29 47
68| FEH 1AM YREENE [REER] BM| 16 243.7 18/ 18 245.9 15
69| HiHhEIELLE (BHhEiE REiE) % 18 4.1 46| 19 4.1 46
70| LTHAEEM (BH@EBEINI Z—ILHY) BA |17 342.9 5|18 341.5 4
71| HHhEE (BR1FRY) m | 17 8.887.7 35/ 19 8,887.7 33
72| WESRHEEE REFIAHLY) BA | 17 2,054.5 45/ 18 2,059.1 47
73| HWERHEEE (EZRYLY) BAM| 17 407.2 46| 18 444.8 46
74| EEEMERIRGTEE [EFEX+H/NFTE] (REEIAHRLY) BHA |13 2347.1 43| 15 2364.5 44
75| EEEMEmRIRGEEE [ESEH/NTE] (FEMERLY) BHHA| 13 127.0 45| 15 132.7 45
76| EATEEFESES (AOTANEY) BE| 17 487.7 22| 18 478.3 24
77| EMERFEEE (AOTAZRZY) BA |17 153.9 25| 18 140.3 28
78| EEEMEELNTELRE B8 BLROBEREEAC] X | % | 18 -0.3 42| 19 0.0 21
79| EEEMEEHNTELAR LS BEROBEREERA X | % | 18 -0.2 40| 19 -0.2 37
80| HHEMMBERAMELRE (28] x | % |18 -0.6 44| 19 -0.9 46
81| MREMMBERNNELRE (E : HLRORBRELSC] X | % | 18 -1.0 40| 19 0.9 3
82| HUEMMBERNAELRE [ - ) x | % |18 4.0 11) 19 1.3 7
83| MEEMBIEMATNELRE [RE - FFAR) x | % |18 -0.1 319 -1.9 26
84| HBEMMEHAMELRE KRR VEN) x | % |18 -2.9 47| 19 1.8 14
85| HHEMMERAMELRE (REER] x | % |18 0.0 4|19 -0.4 42
86| HEEMMERNNELEE [ZE - @15 x | % |18 -0.3 43| 19 0.0 23
87| MUEMBERNMELRE (7] x | % |18 2.0 1] 19 1.2 8
88| HBEMMERAE LRE [Hkiag x | % |18 -1.3 18] 19 1.1 19
89| HEEDMBEEEN [(KE HEREHELEH=100] P - 18 89.4 39| 19 89.2 42
90| HEEDMbEERES (Y RREHMBREH=100] P - 18 93.5 24| 19 91.8 35
91| ATEMERMTEEHEDE ] % | 18 -2.8 21| 19 -3.5 41
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= % 8

No. B B % I--Liv] Bil [ ElE K

wx| 1EEEME milex] ISEEME s

D {rEER

92| BAEiAhiesk [REAB] - 17 0.216 46| 18 0.233 46
93| EHUNXE [REFEK] % | 17 2.5 2|18 1.3 13
94| HABRESOEE (HImHREREE [REEK] % 17 175.2 21| 18 182.7 19
95| #EUNXZILE [REFER] % | 17 96.3 5| 18 97.4 3
96| BXMREDEE (HmbREREE) R % 17 26.6 47| 18 28.2 46
97| —mEHRDEE (bR EREE) [REEB] % 17 54.9 25| 18 59.0 19
98| HREMREDNIES CImREREE [RBMEK] % | 17 24.4 17| 18 20.6 24
99| HABBEIE (IRAREHREE [REEK] % 17 13.71 46| 18 15.20 46
100| H#ARMAFREE (HmARELRLE [REEK] % | 17 37.05 1] 18 38.93 1
101 EEXHEIES (REARERE) [REE] % | 17 18.97 7| 18 15.11 10
102 ERFH (AQTAZRY) [] - HEHEHKREE] FH| 17 57.2 38| 18 60.6 39
103 EEEER (AOTAHRY) [B - TEHEHKREET] FAH | 17 54.3 38| 18 53.3 37
104 BRMARAH MBREHEIALRLY) FH |18 2,802.3 39| 19 2,775.3 39
105| RAZIE (mHiREREE) [REEK] % | 17 9.37 18] 18 11.14 9
06| #HREAEDNE (HEHRERE) [REE] % | 17 2.57 35| 18 3.73 13
107 ZABUERES (HEHRERE) [R8E] % | 17 3.64 29| 18 4.43 17
108| RERUEINE (MmHRERLE [EEK] % | 17 1.90 20| 18 2.01 24
109 EEREHDNEG (HRHRERE) BB % | 17 1.26 4|18 0.97 7
10| FAEINE (mHRERLE [REK] % | 17 3.96 7|18 3.34 14
M| FEEIES (HRHREREE) [RB] % | 17 0.20 41| 18 0.18 44
12| BHMKEXEIE (NRdREREE) B % | 17 9.54 18] 18 8.89 20
13| BAIEZINE (MmHRERLE [REK] % | 17 1.44 43| 18 1.79 42
14| tREBBNEG (mHREREE) [R8E] % | 17 18.28 8| 18 16.91 12
15| ZWEBIE (MmHRERLE) [REK] % | 17 4.86 38| 18 5.21 35
16| CHIAEBIE (RHRERE) [METHEMER] <BH2ET>| % |17 4.01 37| 18 4.25 35
| HEEIE (ARREREE) [RB] % | 17 21.33 34| 18 22.28 32
18| KEEBEINES (RmEREREE) BB % | 17 3.89 4|18 1.85 7
19| AGEIE (HmbREREE) [RE] % | 17 30.12 29| 18 31.58 22
120 HBIEENE (MmHREREE) [REHK] % | 17 2.74 6| 18 2.29 10
121 LBEREFEIE (HRHRERE) [REE] % | 17 20.55 27| 18 18.75 29
122| mHREHREE (AOTAHY) [B - TR B EBRE&ET] FH |17 1,09.9 3/ 18 1,042.1 4
123) R&ZE (AOTAHRY) [B] - mEHEHBREET] FAH | 17 186.2 1| 18 196.2 1
124 #HEBUHE (AOTANRY) [ - AR EHRAET FH| 17 46.3 6| 18 51.6 2
125 ZABHE COSRLULEAOIAZRZY) [B - mMETHBMEBREE]| FH | 17 192.2 10| 18 196.9 4
126 RERUE (THRLUTAOIALRZY) [B - mETHRBMKRAET]| FM | 17 327.2 2| 18 352.3 2
127] £EREE (HERERABIALRY) [B - WEHEBKES]| FH | 17 1,844.8 27/ 18 1,791.1 32
128 @rAZE (AOTAHRY) [B - mEHEMBREET] FAH | 17 69.8 3| 18 59.3 9
129 £ARE (AQTAZRY) [] - HEHBEKREE] FH| 17 164.6 6| 18 144.0 10
130 ZEW|E (AOTAHY) [BEEK] FAH | 17 27.7 12| 18 28.5 8
131 JHBAE (AOTAZFY) [# - HEHBEREET] FH| 17 21.1 14| 18 21.1 14
132 HEE (AOTA%RY) [] - HEHEHKREE] FH| 17 160.9 8| 18 159.3 7
133 HEHLFE (AOTAHRY) [B - TEHEHKREET] FAH | 17 13.5 12| 18 1.4 17
134 KEEBE (AOITALY) [B - mETRERAET FH| 17 39.8 3| 18 18.2 5
135 AM/NERE (REIALRZY) [B - TEHEMKREET] FAH | 17 968.5 2| 18 961.1 2
136| AMFERE (EFEIALSRY) [B - mEHEMKREAE] FH |17 1,3149 1,18 1,317.9 1
137 AMEHEFRE (EFIALRY) [B - TEHEMKRAE] FH |17 11,2149 2{ 18 1,215.4 1
138 HBPERE<ONL> (RE- £@RIALEY) [R - HEHKREE] | FA | 17 10,320.5 4] 18 10,019.8 5
139 HEEE (REIALRY) [] - HEHREHKEE] FH| 17 142.8 26| 18 155.9 22
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B 4 8 ENE]

No. B B % I--Liv] :01 [ ElE K Ty
wx| {EIEE |mw|ex] IEEE [aw] (43E)
E & #

140 INERE 6~TTFEAOQI0BALT=Y) ® 18 753.1 11 19 755.9 1 396.9
141 2R (12~14ZA0105 AE2Y) % |18 654.0 1] 19 665.2 1 356.0
142 B2 (15~17T%AQ10B5AH=Y) ® 18 233.5 1] 19 256.5 2 164.8
143 $hEEH G~5mAOI0BFAHY) B |18 332.9 38| 19 348.5 34 456.0
144 BREFRH O0~5mAOI0BALE-Y) i 17 760.0 1| 18 758.9 1 430. 6
145 N E (AMEHEIE100K Lz Y) ® 18 26.53 13| 19 26.10 13 23.67
146 heiksy (AMEHEFEI00Km Z1=Y) % |18 12.15 14| 19 11.98 14 11.48
147 EHESEH (F{EHEREI00Kn S Y) % |18 436 23|19 428 23 558
148 AM/NERRMER (REIAHRY) m |18 75.0 10| 19 75.6 10 63.5
149 AN RERRHERE (EEIALSRZY) m 18 123.6 5| 19 123.5 5 87.3
150| AMEFERRMEE (EEIALRY) m 18 213.9 5/ 19 222.6 4 124.2
151 AM/NEREBIVERNSEE (REIALRY) m |18 32.4 15| 19 32.6 15 29.3
12| AMPEREBNEBISER (EEIALSRZY) m 18 62.9 6| 19 62.5 5 43.9
153| AIM/NEREBREBNISRER (RAIL/NERED) % | 15 83.6 47| 18 82.1 46 96.3
154 AMPERBAEBISHREER (HALFERE) % 15 86.7 46| 18 85.0 46 96. 3
185| AN EFEERENEHSHREE FAIEFERE) % 18 97.6 25| 19 100.0 4 97.2
156 AI/INERT—ILREER (AN ERE) % | 15 75.9 41} 18 75.6 40 86.8
157 AMPERT—ILRER (HAIPERE) % 15 64.4 32| 18 65.4 31 70.8
158) MMEHFERT—LREER (HAIEHEERHK) % | 15 100.0 1| 18 97.6 4 62.9
159 IEREFHEEE GHMNERBER % |18 69.7 2|19 69.7 2 62.7

160 HERLZFHEEES (HPERHBEH) %
161 NFREEH (MERBEIAGY) A
162 HEERRAERE (PERBBIALLY) A
163 SEFRARY (SFERBEBIALLY) A
164 HEBEEEEYR HEEHIIALREY) A |18 11.58 45| 19 10.92 45 13.63
A
%
%
%
%

165 REMEMEH REFRELIALLY)
166) AIEFPRARELE IEFERERER
167 AUHHEEEELE HHHEEEER
168 ANEREMAFRELE HRERERELR)
169 HHEHBELRE HHBEETEHR DERAZER

70| REFBEERE REFETER DERAFEER % | 17 68.0 4|18 68.5 4 45.5
M| FTERICLDNERRMRERELE (BREFALEY) ny = (17 4.85 3| 18 419 9 3.35
12| FERICESPERRMARFBEELE (EFEFAHRLY) ny = (17 30.78 8| 18 34.99 2 27.98
173 AR EE QSRR % |17 97.3 18] 18 97.0 21 96.8
174 SEEREFREREDEFE % | 17 40.7 38| 18 4.7 37 48.8
175 KEH (AA10AAZHY) #w® |18 0.38 34| 19 0.38 35 0.54
176 HESKRAEHBROREADAZEIEG (HKRZAZEY) % |18 17.0 40/ 19 17.6 39 31.8
177 KRFRBENEH EFEEO S LRFEFER) — |18 71.6 27| 19 68.3 26 89.0
178 EHAKFEH (AO10BAHRY) |18 0.38 22| 19 0.26 33 0.34
179 FEFHREH (AQI0BAHRY) #w® |18 3.80 1] 19 3.58 5 2.82
180 FFEFHH (AQI0BAHY) #w® |18 2.15 13] 19 1.92 17 1.63
181 RIEFEMNNE - hR2ZEDHEOIE (FEEERH) % | 02 45.4 4112 357 5 27.1
182 BEFENEK - IBPEOEDRE (HEXEEFLH) % | 02 40.2 46| 12 43.6 42 46.7
183 REFENEKX - SEZOHOIE (HEEERH) % | 02 6.7 39| 12 9.1 39 10.9
184 BEFEHNKE - KEREDOEDEE (HEXEEFLH) % | 02 6.8 37| 12 8.9 38 12.2
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wx| {EIEE |mw|ex] IEEE [aw] (43E)
F % ®
185 Srf@ A AOLE (H15mLLEAD) [B] % 12 70.2 47| 17 68.3 46 72.3
186| FrEIAHAOLLE (1GEUEAD) [%k] % | 12 49.9 20| 17 49.0 21 48.6
187 FBIREEMREBLE (NpES) % 12 12.8 4] 17 12.7 3 7.1
188| EBE2REXTREFILE (HIThEHE) % | 12 22.3 45| 17 19.2 44 26.7
189 EEOREETMEEBLE (MpES) % 12 64.3 15| 17 9 15 64.9
190| SELKER (BEXEFH - FEBHAD) % 12 5.3 6| 17 7.9 4 5.9
191 ERELE (EREHR MES) % | 12 70.6 46| 17 1.1 46 76.8
192 BRZEELE IHMER) % 12 99.2 8| 17 99.2 7 94.6
193 HRRELLE [BRFTEER] % | 11 0.37 21| 16 0.27 23 0.41
194 T RETFADBHELR (HIEES) % 12 21.4 40| 17 22.9 33 32.9
195 {hiRETAIA S DB ELLER (HFhEH) % 12 21.2 40| 17 22.6 33 31.4
196| FAEE (BB REEZ % | 17 5.6 43| 18 5.6 44 8.2
197| AMRALEE CRAKKREER) & 17 0.37 46| 18 0.36 46 0.90
198| FERBE (BB RAZ) % | 17 15.1 8| 18 15.6 5 10.3
199 /R—~2 A LEBE [EA] (GBHH REBER % 17 11.9 10| 18 1.3 14 10.4
2000 hEFEHRERBE MSSUL] GBS REES) % 17 3.2 47| 18 3.0 47 6.1
201 hEFEHREFRBELE [45FUL] CHatiets % | 17 20.8 44| 18 19.4 46 25.7
202| BAEEERBELE GIRBA4HTHL4ZY) - 17 12.43 38| 18 13.41 38 17.18
203 BEEFICHDIHBBEOEE NBEEH) % | 17 17.5 32| 18 19.6 29 21.5
204 BEEICHHIENBBEOEE (HEFEMBELR % 17 42.3 5|18 46.0 3 22.2
205| ESEFRFFEEEORAEE (RFREZEERBELR & | 17 0.55 47| 18 0.56 47 1.6
206 KRFEZEEXEFICHOIABEDIE (RHRFEZEEXEEH % | 17 60.2 35| 18 63.6 37 66. 6
207 REFHREEEOREEE NKFEEEH % 17 13.2 27| 18 9.1 36 11.4
208| EnEME (GRREH  HEEHR % | 14 4.4 36| 19 4.7 38 53
209| BEBNE (MEEH (BHEAXER+EHRIR-EBEBER ) % | 14 6.6 10| 19 6.3 3 5.1
210| FIRFIEE FHRMEBRR  FEER % 14 5.4 41| 19 4.9 42 5.7
21| HERBE ( EHEREBENCFERLED S5EUEAD | % | 14 9.5 31| 19 8.9 32 9.4
212 AHBIEBENBRRERE (15BULEAQI0BAZZY) i 18 5.80 9| 19 5.85 7 3.77
213 EFEEEL% (AR [B] RS | 18 183 41| 19 183 42 186
214 EHEEEL% (AR [x] BEfE | 18 170 46| 19 171 43 174
215 TN — 2 A LDHE (IBEHEY) =] 18 823 38| 19 866 29 906
216| =M/ — bR A LTEBEHR A |18 19,240 43| 19 15,760 46 81,977
217 BEERMREEEFVEHR (BB [B] FH | 18 145.6 40| 19 150.2 32 154.8
218 BEERFBEFEFVESE (B8 [x] FH |18 138.4 38| 19 138.1 40 147.1
G Xk RR—Y

219] AREH (AO1005AH7=Y) 8 14 269.0 14| 17 266.2 14 213.7
2200 RIELEH (AO100B5AEFzY) 5 | 14 38.3 6] 17 40.2 7 28.0
221 E¥EEH (AO100FA%=Y) 8 14 14.8 7| 17 16.3 6 12.1
222 BOEHEREH (AO100B5AZ2Y) Fr | 14 13.6 16| 17 18.8 5 11.9
223\ EHEAOE - BABAUMERE (AQ100B5AL2Y) i 18 2.5 43| 19 2.6 43 10.5
224| EERMEISEH (AO100FA%fzY) 5 17 15.1 20| 18 13.9 21 14.2
225 #EERFEEH (AO100B5AZZY) ME% | 14 450.4 27| 17 492.3 25 491.5
226 ZEMETLEH (AO100FA%zY) R | 14 88.9 16| 17 96.7 12 76.8
221 BOEZH - BEH (AO100B5AZZY) s-mE| 13 586.9 22| 16 1,149.6 17| 1,179.2
228| RRA—AREMR - SBEH (AO100BAZ7Y) omzl 13 3,929.8 15/ 16 16,020.1 4| 4,900.0
229 EEH (XMHEAO100B5A%-Y) smemE 13 691.4 30/ 16 1,027.3 26| 1,917.4
230 . s-mE| 13 861.3 9| 16 1,409.0 8 796.3
281 RIUT 4 7EHOFERITEHEE (1 5mUL) % 13 28.8 31| 18 24.6 36 28.0

B RBERERIHE THHEER R DT A22009)
BIEEREH B2 £ EHEHE1E2000)

- 148 -




= & B ESNE]
No. B B % I--Liv] il [ ElE K Ty
wx| $EIEE |mw|ex] fEEE Ew| (45%5)
232 RAIR—VOERTHER (1 0FUL) % | 13 65.4 40| 18 57.6 43 63.5
233 HRAT - (TEOEMTEEE (1 0mUL) % 13 70.2 44| 18 61.1 46 73.5
234 BARITOEMTEBEE (1 0FUL) % | 13 7.5 34| 18 5.2 40 7.9
235 —MRERFFITHE (AQFALRY) :3 18 17.1 44| 19 15.7 44 26.9
HEB #&

236| EIFREELE HBEEFHEHFEHYEER % |17 1.5 47| 18 1.4 47 2.4
27| HBHLERLE (HBEHEHYEELR % 10 67.7 25| 15 64.7 32 66. 8
238| fERILE (NEEFHTFHYEEH) % | 10 31.1 24| 15 33.9 15 31.8
239 REBREE (HBEEFHEHYVEEH) % 10 23.6 20| 15 25.4 15 23.3
240 FIF/PFOLRLE (RBFIFZEEFH % |17 41.0 23| 18 45.0 18 38.2
241 BIFHERILEE HEIF:REEFH) % | 17 39.8 24| 18 31.9 42 41.3
242 —FREELE RBEHTHYEER % 10 74.6 19| 15 70.7 25 67.2
243 HEMEELE (RBEEHEHEHYVEER % | 10 20.8 32| 15 25.1 23 29.5
244 FEOEMEE (MEELY) m 10 199 43| 15 204 43 298
25| BHERETOEANERE (EEHzY) m |10 114 38| 15 119.9 37 134.8
246 BREBOENERE (EmBH2Y) m |10 50.0 21| 15 50.4 25 50.0
247 BHLREEOSH (MEEHY) = 10 36.49 41| 15 37.98 40 43.98
248 BREEOEH (1FEHY) g |10 19.09 8| 15 18.79 25 18.77
249| FIFBBELREEOKRERE (MEFELHRY) m 17 134.2 26| 18 127.6 39 135.4
250 FIFZEREEOKREE (1FEHY) m |17 51.3 9| 18 54.5 4 47.8
251 BEEH (1EE42Y) (BHR) = |10 6.02 34| 15 6.01 33 6.29
252| RBEEH (1EFEHY) (ER) = 10 3.3 3|15 3.12 12 3.00
253 BHLREEOEH A%HRZY) Z |10 12.83 27| 15 13.85 26 14.00
254 BREEDEH IAHFY) = 10 8.85 10| 15 9.62 7 8.94
255| KEBRAOHHEBLE (HBEHTEHYEEH % | 10 56.5 42| 15 67.9 44 83.9
256 AEOHIEELE HBEEHEHYEEHR % | 10 97.0 29| 15 96.8 34 96.8
257| RIEB{EKELEHEHRES % 10 94.0 35| 15 92.5 38 93.8
68| REtEXICKZADPEHNEREBTHLIEEMBLE 1) - 10 7.0 36| 15 4.4 46 19.9
259 AEEEEEORE (IMA33ImMHfzY) * =] 18 1,047 35| 19 1,080 32 1,455
2600 REEEEEORE (IMA3 ImM%fY) P =] 18 3,583 43| 19 3,578 43 , 444
261 FEIREAREYMIEETTEHE REFEIMBRY) FAH | 17 155.1 19| 18 151.5 27 153.9
262| #RTAREERBAMBFLLE F—AgHHLR) % 17 27.2 42| 18 27.7 42 50.2
263 HRRGTE BW | 17 97,087 45| 18 95,169 46|3, 006, 923
264 AV UERFZE kl 18 305,687 46| 19 302,779 46(1, 303,940
265| LEKE#HKAOLE GHTHRREBRAD) 2) % | 17 90.8 40| 18 90.5 41 94.8
2660 TFARKEERE (RHTHREEAAD) 2) % | 14 25.2 45| 18 30.4 45 59.2
267 KEAEAOEE I FKELEBEREBEAD) % 16 74.4 44| 18 76.6 45 86.9
268 LFRMEAOLE RTHREBRAAD) 2) % | 14 40.0 5| 17 34.1 5 16.5
269 CHDVYAUILE % 16 21.6 9| 17 23.9 1 18.8
270| CHIBITE % | 16 12.1 39| 17 6.4 47 13.2
21| RELSEERRBTE Fmd| 16 1,000 34| 17 885 38 2,830
272| INFEIEHR (BRBIEERRC) (ARFAHY) 15 13 15.40 1| 18 13.52 2 10.76
213 ERBIEH (AOFAHRY) & |13 7.80 4| 18 6.91 3 5.53
274 KEUNSEEH (AO10BAH-Y) 15 13 14.40 7| 18 15.33 7 13.52
215 BEE#H (AO10BAHRZY) & |13 3.08 6| 18 1.39 42 1.92
276 I TH—ERFERHK (AO10FAHRY) fr | 14 103.4 41| 16 123.6 25 121.0
217 AVEZI VAR LTH (AO10BAHRZY) i 14 21.5 45| 16 23.2 45 31.6
218| ERR - RBEMH (AO10BAHRZY) | 17 392.4 6| 18 397.4 6 321.7
219) Y==K (AQ10BASZY) i 17 108.4 32| 18 104.6 33 120.1
280 ARBEH (AO10BAHRY) Fr | 17 3.0 26| 18 2.7 28 4.8

X BEFMEMOT—2%#8BHLTV0ET,
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=x| 1512ME [mm|ex] EEE (e (4
281| EMEBH (AMEHEFEI00kmH=Y) B |18 27.64 14| 19 27.64 14
282 EMEYISIZH B&| 17 7,119 45/ 18 6,764 45
283 HFEABEMAHK (AOFAHRY) A | 18 301.3 2| 19 287.2 2
284 ERELEE REBEIkmLY) km | 17 1.88 45| 18 1.89 45
285| FEEREER (KEEIkMLzY) km | 17 0.44 38| 18 0.44 38
286| FEERMER EEERERER) % | 17 98.8 16| 18 98.8 17
287| THETATESHEE CImETFERER) % | 17 79.8 27| 18 79.6 28
288 RAEEHEBEH (AOFAHRY) & |18 713.2 28| 19 713.2 29
289 BXAFAEH (AOFARY) & |18 466.1 37| 19  468.7 36
290 TfMERAERBEELE (HEmETBREEEmE) % | 17 26.7 29| 18 26.7 29
291 {EEERAMBEELE (fRRithigmiE) % | 17 43.7 8| 18 43.7 8
292 ITEBAMBEELE ARHEER) % |17 3.1 43| 18 3.1 43
293 #MHAEERE (AOTAHRY) m |17 6.84 37| 18 7.47 37
294 BHAEHM (AIEHEFEI00kML=Y) AF |17 66.75 18/ 18  66.67 18
1 EE-ER

295 AHIREFER (AOFAHRY) - 13 329.1 19| 16 324.4 14
29| BIREE (AOFALLY) — |13 323.6 16/ 16  336.6 13
297 — R ERMFAREER (AO10BAZZY) A |17 13,796.1 4| 18 13,732.1 4
298| —RRREDTIBEHAERER (AO10HFAL:Y) A |17 22436 1|18 2,188.8 1
299 —RRERDI1 B EREBES (AO10FAZZY) A |17 1,901.2 1]18 1,871.1 1
300| AEEELTETE (KA DQ=FRASE] (AOFAXY) - |12 2.84 3|17 2.28 5
301 TR [ 0% - 8] £ |12 76.85 45/ 17 77.93 44
302| Figmdn [ 0&% - &) £ |12 84.76 22| 17 85.87 21
303| TR (655 - B &£ |12 17.62 23|17 18.24 28
304| FigRdn [65% - &) £ |12 22.84 13| 17 23.83 9
305| AFTEMCKIETEH (AO0BFAZRY) A |17 683.5 2| 18 662.9 3
306| BHLHAMICLBHEER (AO10FALEY) A |17 3182 418 3131 7
307| FERMICKDIETEH (AO10BFAZZY) A |17 11.0 31| 18 1.7 22
308| HMEMEEICLZEEEH (AO10FALT:Y) A |17 5.0 20| 18 3.7 38
309 DERBMEMEZEBRCICKSETER (AQ10FALY) A |17 187.8 3| 18 187.1 2
310| BNMEHEBICKDETEH (AO10BFAZERZY) A |17 161.5 2| 18 147.3 5
31| 1R, PR UEL £ITKDEEER (HEKIOFL:Y) - |17 0.0 30| 18 16.1 5
312| FEEHE GEEH (HEHRTEER)) (HEHTHRY) - 17 36.6 5|18 28.7 20
313 BEMRCE (GLEMGHRH2ENE) + SMFERRCR) e 1) | — | 17 54 9|18 5.0 19
34| FHAERELTE FHERFECH HEH) HEHTFLRLY) - |17 1.2 36| 18 2.3 1
315| FLRETHE FLRECH HEH) (HEHTFHRY) - |17 2.5 35/ 18 3.0 9
316| 2,500 ¢ RAHHIESE (2,500 g RADH LS/ H EH) 1) | — |17 103.4 418 1046 3
37| FEHHER (PF2F - B) cm | 18 159.1 40| 19 158.8 43
38| EHEE (PHEF - K) om | 18 154.4 42|19  154.4 43
319 EMRKRE (hE2FE - F) ke | 18 49.5 29| 19 49.4 22
3200 EMAE (hE2EF - &) ke | 18 47.7 31| 19 48.1 12
21| —iEmbEs (AR10BALEY) Mgk | 17 16.1 1|18 16.1 1
322 —RREERTE (AO10BAEZY) MeE | 17 75.2 25| 18 75.6 25
323| FEMRRER (AO10BAN=Y) Wk | 17 1.6 8 18 1.6 8
324 ERZEFRE (AO10BAZRZY) MeE | 17 44.6 31| 18 45.5 29
325 —HRSRRRRR (RTEHhEREI100km &= Y) MeE | 17 11.0 8| 18 10.9 8
326| —REMATHL (AIEMEFEI00kniS = Y) MR | 17 51.3 32| 18 51.1 33
327| ERIEZHEAMHE (AMEHEREI00km L= Y) MeE | 17 30.4 31| 18 30.7 32
328 —RRARBEIRERE (AO10HALY) BE |17 2.155.0 1| 18 2,137.6 1
329 FEMRERHE (AO10BAZZY) K |17 493.4 6| 18 483.6 7
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No. B B % I--Liv] :01 [ ElE K Ty
wx| {EIEE |mw|ex] IEEE [aw] (43E)
330| NEEBEDEHEMRM COH/ULAOI0FALZY) Fr | 17 34.9 718 31.5 4 14.1
31| EFERICHBT IEME (AQ0BALZY) A 16 261.7 3| 18 263.1 4 210.7
332| EHEMEIRICHET IEREMH (AO10FALZY) A |16 55.7 37| 18 58.9 33 66.6
333| EEMERICHB T HEEAE - AEFEEH (AD10BALY) A 16 1,270.1 1} 18 1,319.0 1 909. 7
334 —HERIREEEENS (100/RFRA<Y) A |17 8.1 41| 18 8.2 40 9.7
335| —ALTRATE AN - A AN (100/RRRA2Y) A |17 47.0 46| 18 48.6 45 52.9
336| —ARRBESAREBEY (BHEMIAIBLSRY) A 17 12.8 36| 18 12.5 34 13.4
337 —RREREEN (EHEMIAIBZZY) A |17 10.9 6| 18 10.7 6 8.7
338| —ARRMRTERR R E AR (BEA - ABEMANIREY) A |17 1.9 218 1.8 2 1.6
339 —MRERARFIAE (ERBEEARH —RREKRERH) % | 17 88.2 3| 18 87.5 2 82.0
340 — AR EMERBH (AREBEZFIALRLY) =] 17 50.3 1] 18 49.6 1 30.5
341 {REERE (AO10BAHZY) A 16 51.2 3| 18 50.9 5 38.7
32| WAETRAEE - —MREERE (AO10BAZZY) MeE% | 14 5.2 14| 17 5.0 13 4.3
33| HEETEH (AOI0FAHRY) = 18 7.7 2|19 7.9 2 5.6
344 ERBBHBHEH (AOFAZHRY) “ |17 45.0 4| 18 44.9 3 37.5
345 EFHH (AO10BAZZY) Fr | 17 47.3 6| 18 49.0 5 411
346| FEEHE (A{EHhEFEI00kML=Y) i 17 32.3 26| 18 33.1 26 55.9
347 EESRFEEH (AO10BFAZZY) Fr | 17 42.3 31| 18 48.3 24 46.5
348 EERIRFTEH (ATEHEEIOkML-Y) i 17 28.8 38| 18 32.6 34 56. 4
J R - AR

349 £ FREWHREEAE (AEHAOFTAZRY) A |17 20.58 3| 18 21.13 3 10.19
30| AEFREHFHBMAE (AFHAOFALRLY) A 17 1.48 7|18 1.44 7 0.85
361 L£FREEFEFEMAE (AEHAOFTAZRY) A |17 17.58 3| 18 17.91 3 8.29
32| AEFREEEHBAE (AFHAOFASRLY) 17 14.98 4| 18 15.46 4 7.68
363 A FRENEHEIAE (AEHAOFTAZRY) 17 2.64 2|18 2.718 3 1.25
354 AEREHRESHER (AFHORULAOFALARY) A |17 33.7 6|18 34.2 5 18.4
35| BAEEEFIRIMH (AOFAHRY) A 17 54.4 3| 18 55.2 3 43.1
356| {REEMEEH (EEREHFEEEABI0FAHRY) | 17 12.2 38| 18 12.0 37 36.6
357 EBAR—LE GSFLULAOI0FALY) i 17 36.8 32| 18 36.7 31 43.2
358 E At A2 —# (65l EAOI0BALZY) Fr | 17 10.2 19| 18 9.5 20 9.6
359 EZABORH 65mLlEAO10FAZZY) Fr | 17 52.3 4] 18 50.5 4 17.3
360| ArEEEZABAUMERE GOmULEADIOBAL=Y) i 17 24.2 22| 18 23.8 26 24.0
361 BABEEFLEEMER (AO100BAZHY) Fr | 17 35,2 3|18 34.2 3 21.2
362| MMEEEEEREEK (AO100BAL7Y) i 17 50.2 11| 18 50.7 13 42.9
363 REMBAUMERI (AO10FAZZY) Fr | 17 3.52 2|18 3.29 4 2.17
364 AFREHBBEEH (EFREBRERABETALRLY) A |17 7.3 39| 18 7.2 4 25.7
365 AFREEREMER (EIREERERAETAHRLY) A |17 7.1 41| 18 6.9 40 25.3
366 EZAR—LEEH GOHMLULLAOFAZZY) A |17 24.4 28| 18 24.3 31 25.9
367 ZBAR—LEMEH OBULAOFAHRLY) A 17 23.7 25| 18 23.8 27 24.5
368) BABEEFLEEMBEIH (AO10BAHY) A |17 102.2 2| 18 108.6 2 60.9
369 BABEEEFLIZEMBRERER (AO10BAZRZY) A |17 91.5 4] 18 99.4 3 57.4
370| HMIFEEE RS EEH (AO0BAHRY) A 17 196.8 15| 18 205.8 15 183.6
31| HIREEE IR STEMER (AO10BFAHRY) A |17 184.9 17| 18 198.2 15 179.0
32| RAEFRE (REFE) #H (AO10BFAHY) A 17 305.9 1|18 307.7 1 214.4
33| BABEEEHEKXEH (AO10BFAHRZY) A |18 10.0 24| 19 9.9 24 10.0
374 HMREEEMEHEHK (AO10FAHRY) A |18 4.94 14| 19 4.86 13 3.89
35| BFBEIXIEEH (AOI0BALY) A 18 1.52 18| 19 1.54 19 1.39
376| FHEINEFIAEH RN EIBEFRLLY) A |17 48.26 30| 18 38.21 32 41.34
37| REERE (REFH) M - XBHH 1) % 17 30.7 35| 18 30.7 34 36.6
38| ZAEERE (EAEERZBAREIALRLY) =] 17 958,267 3| 18 979,779 3| 823,695
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wx| 1EEEME milex] ISEEME s
39| ERF&HAEAREH [(F18] 20~59%A0FALY) A |16 344.4 9] 17 353.3 7
380 ERESHEMRENR [B32] Q0~59BAOFALLY) | A [ 16 116.5 46/ 17  116.2 46
38| ERBRERBEERRER (AOFAZRY) A |17 420.5 7| 18 422.1 6
32| ERBEGRIDE HREEFANEY) — |17 9,020.52 26| 18 9,233.96 28
383 ERBERRKRZHEE BERERIIAHRLY) =] 17 235,761 14| 18 244,497 13
384 BFEEBEREMAZH (AOFAZRY) A |16 341.8 20| 17 339.6 21
3| BFEERERRIDE BERETALLY) — | 16 6.816.38 23| 17 6,845.90 24
386| BUFEZREMRIRZELE HEEETFTALRY) - 16 7,263.91 36| 17 7,434.33 34
87| BNEEREERIDEE WERBIALEY) M |16 81,641 22| 17 82,664 21
388 BTEEREREZZEE WHEEHIALRLY) =] 16 86,056 29| 17 87,529 29
389| EAMRIKRZHE (HEEKRER % | 17 3.5 2|18 3.5 1
390| FEEKEMERRGAE GHERAFEBES % | 17 24.1 1] 18 24.2 1
301 FEKERLEDHEE - 17 5.64 1] 18 3.55 3
392| FEMKENESDERE - |17 0.07 25| 18 0.06 28

K ®# £

393| GHBFE#H (M{EHEIEIOOkM L= Y) Z |18 4.8 23| 19 4.8 23
394| CHEAHE - HEI% (RIEHERE100km L7 Y) 18 27.7 17| 19 27.7 15
395 GHBFRY THEBESRAHK (AO10FAHY) & |18 120.1 17| 19 120.7 17
396| SHBAAKFIE (AO10BAL=Y) AF | 18 1,670.3 35/ 19 1,718.9 34
397| GHBFEBH (AO10BAZZY) A |18 140.5 8| 19 141.4 9
398| CHPAHERAEENEH (AO10BAZZY) [ 17 1,932.3 36/ 18 1,990.4 32
309 KEDI-ODEFHBILTER (AOT0FA%7Y) @ |17  140.3 3| 18 92.1 14
4000 CKSSHAEH (AO10BAZZY) % |18 55.4 2| 19 55.7 3
401 L%k“‘.‘ﬂk{#%ﬂz (AO10BAL=Y) # |18 33.3 119 33.3 1
402| KKFEEEH (AO10BFAZFZY) A |18 8.61 19| 19 7.29 33
403 KSTEIGER GEMASI00HHT-Y) A |18 25.9 45| 19 21.9 46
404 BYMASKEBER (AOIASRY) M| 18 1,195 13| 19 846 27
405| EYAKIBERE (BMAKIGELLY) BHA |18 358.8 26| 19 254.3 43
406 SIS GEBRELERTFkmEfzY) o 17 4.03 45| 18 3.73 47
407| HEETSEH GEREERTknZzY) x |17 534.5 38| 18 540.8 38
408| SEHBEH EREERFkmHY) ® |17 103.4 37| 18 105.2 36
400| REBRFEEMH EREEETFmLY) # |17 377.7 40|18  360.7 40
40| RBERWMEEHH (AO10FAZRZY) % |18 611.9 32| 19 583.8 31
41 TEEREGEL (AOI0HALR=Y) A |18 729.6 34/ 19  695.6 35
42 RBERHEEH (AO10BFAZFZY) A |18 7.3 12{ 19 8.4
3| ERTBEERBRBHEH (AOFAZRY) # |16 78.6 6| 18 78.7 5
414 BRE - SBEZOMOITREA - BERY (TEMERIOKMS:Y) | BT | 18 10.7 30| 19 10.7 30
415 ZEWEH (AOFAHRY) A |18 2.00 10] 19 2.04 9
416 FEIDLBAEH (AOFALEY) # |17 15.44 18/ 18  13.87 18
M| BWERLBHMEH (AOFAZRY) H |17 11.75 18| 18 10.65 17
418 FEILEEE BRI LZY) % | 17 30.7 30| 18 35.7 27
419 BROBREE RHOGHIHEEY) % |17 27.8 30| 18 34.2 25
420 KEWHERE (AO1TAHRY) =] 17 26,956 2| 18 5,766 20
21 FEOERICEIEEER (AD10FAL:Y) A |17 48.3 1] 18 49.8 1
422 NEEBEEH (AO10BAZRY) ® | 17 43.7 32| 18 49.4 26
423| IEXUVES A EER 3 “ |16 1,110 46| 18 1,097 46
424 —fig¥ U AFERRE # | 16 487 43| 18 502 44
425 KEFALELEDEERESH “ |16 3,300 41] 17 3,320 42
426) REERRREFLOBE (AOFAL:Y) # |17 962.3 3018  935.7 30
21 RE4EGREREESE (REZ2M14L:Y) BA |17 900.7 18] 18 884.2 17
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= & 82
No. B B % I--Liv] Bil [ ElE K
=x| 1512ME [mm|ex] EEE (e (4
428| RELEGRERIRESEE (HEHFHRY) BA |17 2,127.4 38/ 18 2,013.0 38
49| HBERRREERAEE (AOFALREY) # |17 525.9 24/ 18  498.3 24
30| BBEMRIRFAERNORIREE REZNIHHLY) BA |17 285.0 11| 18 285.9 13
431 KRRRREEDH - —BRPEFROHE (—RIFFEBLZY) | & | 17 80.9 46| 18 74.8 46
432 KRERREEDH - —BOHZIRIRSE (BEZNHLS-Y) | A | 17 95.4 26| 18 97.8 23
L %X it

433 EUNA (1B YIAAR) [EHEHE] X | FH| 18 597.3 8| 19 519.4 27
434 HHEETOEOERA (HFL-YINARM) [EHEitH] | FHA |18 428.9 25| 19 380.3 42
435| HBZH (el YIAARM) (St % | FM |18 296.5 26| 19 284 37
436 BHEEIE GHEEXH) [£#H] P % | 18 22.0 33| 19 23.2 14
37 EREIE GEEEXH) [£#F] ¥ | % |18 7.2 13| 19 7.2 15
438 B - KEEIE HHEXH) [£#FH] ¥ | % |18 7.1 34/ 19 7.1 28
39| RE - RBEAKEIES GHEEXH) [£#F] P % | 18 3.1 24| 19 3.5 10
40| WREUVEDEIE HEEXH) [£iF] ¥ | % |18 3.8 45 19 3.5 46
#1| REEREIES GHEHEXH) [£i#F] P % | 18 4.4 14| 19 3.8 40
42| E - BERBE GEEEXH) [£itH] % | % |18 12.4 28| 19 12.4 22
443 HBEEIE EEEXH) [2#F] ¥ | % |18 4.1 20| 19 5 7
44| HBEBEBRIE GHEEXH) [£i#F] % | % |18 9.1 40| 19 9.1 45
45| FEHEMER CHEXH AILSFE) [BFEHTF] X | % |18 68.6 37| 19 73.5 19
M6 BPEBHAES (1HHHY) [£iEF] FH |1 13,279 30| 16 16,636 12
47 BEEFLEAESIE HEERAES) [2iHF] % | 11 62.9 7| 16 60.5 34
48| EHRBRRESIE NEFERES) (2] % | 11 28.4 25| 16 29.7 14
49| HiFIHFRESIE (REFERER) [£H#F] % | 11 6.8 32| 16 9.2 20
40| BERAES (HEuy) [ FE| 11 3,296 47| 16 3,895 44
451 FE - THD-HDOAKEIE (HEEERER) [£HF] % | 11 78.5 45| 16 76.4 44
452 BBERAERE (FHBLRY) [#F) & | N 1,559 32| 16 1,654 30
453 BFLUSHAYE (FHEN-Y) [£4tH)] & |1 942 44| 16 1,003 43
454 JL—LIT7IAVAHERE (FHFEHLY) [£HFH] & |1 2,061 29| 16 2,443 28
455 RFLAELIED WSSty FHHNE (FHEnry) (2ww) | & | 11 1,419 44/ 16 1,072 43
456 ET7/RAYE (THE#HLY) [£HH] & |1 219 37| 16 233 37
457 EHEE (PS%E0) FAHE (FiHHLY) [£iHH] & |1 877 40| 16 1,647 40
458 NYIUFEHE (FHSLEY) [2H#E] & |1 353 41| 16 744 44
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SHRISE TS B2t FESERIAEIER

5 @ f__m

N, " 8 % PR RS AN N pr— p 7

459 | BHRBSBAICBTIXMEADIE 20 39 2| 5.1% 20.2.1 | 19 5.1%
460 | BHROBBRRFICETIXMZADEE 20 1,637 519 31.7% 19.5.1 | 19 | 33.4%
461 | #HABEKCEIKERRFOLMZANES 20 452 133| 29.4% 19.5.1 [ 19 | 28.1%
462 | EHROITREERICETHXMEEDEEG 20 66 12| 18.2% 19.5.1 | 19 [ 20.9%
463 | SHMEBEICHETIEXUBADEE (NFEHD) 20 3,558 931 26.2% 19.4.1 | 19 | 25.5%
464| BSHNRBREOEERICETILUDEE (HNERR) 20 244 14 5.7 19.4.1 | 19 5. 4%
465 | WETHEBSEAICE T2 XMEADEE 20 538 56| 10.4%| 19.12.31] 19 | 10.3%
466 | METHTHREZEARICEITIXMZADEE 20 1,141 121) 10.6% 19.4.1 [ 19 | 11.1%
467| WETHMOBBRRFICETE2XMZADEE 20 7,692| 1,753| 22.8%| 19.4.1 | 19 | 23.4%
468 | TETHEERICHE T A XMBADEE (TEE) 20 4,830 1,458 30.2%| 19.4.1 | 19 [ 29.4%
469| THETHEAOEEMISHT SRIEOHE (THED 20| 648 54| 8.3% 1941 | 19| 7.5
470 NEBBEEICE T SRUHBOEE 20 3,500 2,483 70.9% 19.5.1 | 19 | 71.3%
AN INEBRBERIZBTAEERROEE 20 245 52 21.2% 19.5.1 | 19 | 23.1%
42| HERBBEICETSXUBREOEE 20 1,953 992( 50.8%| 19.5.1 | 19 | 50.6%
473 | FEBRBRRICETIEERROEE 20 110 7| 6.4% 19.5.1 | 19 6. 3%
474 | BEEIRBBAICETIXMHEDEE 20 1,981 860( 43.4% 19.5.1 | 19 | 43.1%
475 | BEEFERRRICBETHIXURROBE 20 45 3| 6.7% 19.5.1 | 19 6. 7%
476 | BREMEMEESOEMARICHTILMEDRE 20 | 70,589| 19,639| 27.8%| 19.3.31 [ 19 | 27.5%
477 BREBRESORAICEITILEDEE 20 554 20| 3.6%| 19.3.31 [ 19 5.8%
478 | RXRWRMEE CABHEME) OEHEGRICEITIXENEE 20 8,382 659 7.9%| 19.3.31 | 19 8.3%
479 | RRWRMEE (RBHEHE) ORRICETARMEORE 20 444 11| 2.5%[ 19.3.31 | 19 2.2%
480 | BIRFA - BISORAICHETILMOREG 20 765 68| 8.9% 19.6.1 [ 19 8.9%
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